
�

A]\

1.	 xUth;	xU	Ntiyia	‘n’	ehl;fspy;	Kbj;jhy;>	xU	ehspy;	
1
n

	Ntiyia	Kbg;ghh;.	

vLj;Jf;fhl;lhf	 xUth;	 xU	 Ntiyia	 4	 ehl;fspy;	 Kbj;jhy;>	 mth;	 xU	 ehspy;	

mt;Ntiyapy;	
1
4

	ghfk;	nra;J	Kbg;ghh;.	

2.	 xUth;	xh;	ehspy;	Kbf;Fk;	Ntiyapd;	gFjp	nfhLf;fg;ngw;why;>

	
1

=mt; Ntiy	Kbf; f	MFk;	nkhj; j	ehl; fs;
xU	ehspd;	Ntiy

	
	 vLj;Jf;fhl;lhf>		xUth;	xU	ehspy;	

1
10

	ghfk;		Ntiy	nra;jhy;>	mth;	mt;Ntiyia

1 101 101 1
10

= × = 	ehl;fspy;	Kbg;ghh;.	

1.	 A	 vd;gth;	 xU	 Ntiyia	 20	 ehl;fspYk;>	 B	 vd;gth;	 mNj	 Ntiyia	 30	

ehl;fspYk;	nra;J	Kbg;ghh;fs;.	mt;tpUtUk;	Nrh;e;J	mt;Ntiyiar;	nra;J	

Kbf;f	vj;jid	ehl;fs;	MFk;.?

	 xU	ehspy;	A		nra;Ak;	Ntiy			 = 1
20

	 xU	ehspy;	B	nra;Ak;	Ntiy				 = 1
30
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	 xU	ehspy;	A, B	,UtUk;	Nrh;e;J	nra;Ak;	Ntiy		 =		
1 1 5
20 30 60

+ =

								 	 	 	 	 	 	 	 = 1
12

		gFjp	Ntiy

	   ∴ A, B 	,UtUk;	Nrh;e;J	mt;Ntiyia>	
1 121

12

= 	ehl;fspy;	nra;J	Kbg;gh;

2.	 xU	Ntiyia	A,	B		,UtUk;	Nrh;e;J	8	ehl;fspy;	Kbg;gh;>	A		kl;Lk;	mt;Ntiyia	

12	ehl;fspy;	Kbg;ghh;.	B	kl;Lk;		mt;Ntiyia	vj;jid	ehl;fspy;	Kbg;ghh;?

	 A, B	,,UtUk;	Nrh;e;J	Kbf;Fk;	Ntiy		 =			
1
8

		ghfk;

	 xU	ehspy;	A	kl;Lk;	nra;Ak;	Ntiy						 =			
1

12
	ghfk;

	 xU	ehspy;	B	kl;Lk;;	nra;Ak;	Ntiy		 	 =		
1 1
8 12
−

	 	 	 	 	 	 	 	
= 3 2 1

24 24
−

=

	 B		kl;Lk;;	mt;Ntiyia	nra;J	

	 Kbf;f	MFk;	fhyk;		 	 	 	 	 = 1 241
24

= ehl;fs;

3.	 A		xU	Ntiyia	12			ehl;fspy;	nra;J		Kbg;ghh;>	B		mNj	Ntiyia	20	ehl;fspy;	

nra;J	Kbg;ghh;.	A,B	,UtUk;		Nrh;e;J			mt;Ntiyia	3	ehl;fs;	nra;jdh;.	gpd;	

A	nrd;W		tpl;lhh;.	kPjp	Ntiyia	B	vj;jid	ehl;fspy;	Kbg;ghh;?

	 A	xU	ehspy;	Kbf;Fk;	Ntiy	 = 1
12

		

	 B	xU	ehspy;	Kbf;Fk;;	Ntiy		 = 1
20

	 A, B	,UtUk;;	Nrh;e;J	xU	ehspy;	Kbf;Fk;	Ntiy	 =		
1 1

12 20
+

	 	 	 																																												=		
5 3 8 2
60 60 15
+

= =
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	 A , B		,UtUk;	Nrh;e;J	3	ehspy;		Kbf;Fk;	Ntiy		 =		
2 23

15 5
× = 	ghfk;

	 kPjKs;s	Ntiy	=  2 31
5 5

− =
	
ghfk;

	 kPjKs;s	Ntiyia	B	Kbf;f	MFk;	ehl;fs;		 = 	

3
5
1
20

	 					 	 	 	 	 = 3 20
5 1
× 			

	 	 	 	 	 	 	 = 12	ehl;fs;

	 ∴	kPjKs;s	Ntiyia	12	ehl;fspy;	B	nra;J	Kbg;ghh;.	

4.	 A,B	,UtUk;	 	 xU	 	 Ntiyia	 12	 	 	 ehl;fspy;	 nra;J	 	 Kbg;gh;>	 B,	 C	 	 mNj	

Ntiyia	15	ehl;fspy;	nra;J	Kbg;gh;.	C,A	mNj	Ntiyia	20	ehl;fspy;		

nra;J	Kbg;gh;.	%tUk;	Nrh;e;J	kw;Wk;	jdpj;jdpahfTk;	mt;Ntiyia	vj;jid	

ehl;fspy;	nra;J	Kbg;gh;?

	 A,B	xU	ehspy;	nra;Ak;;	Ntiy	 	 	 = 1
12

	 ghfk;

	 B,C	xU	ehspy;	nra;Ak;;	Ntiy	 	 	 = 1
15

	ghfk;

	 C,A		xU	ehspy;	nraAk;	Ntiy		 	 	 = 1
20

	ghfk;

	 xU	ehspy;	(A + B) + (B + C) + (C + A)	
	 nra;Ak;	Ntiy	 	 	 	 	 	 = 1 1 1

12 15 20
+ +

	 xU	ehspy;	(2A+2B+2C)	nra;Ak;	Ntiy		 =		
12
60

	ghfk;

	 xNu	ehspy;	2(A+B+C)	nra;Ak;	Ntiy				 =		
12
60

	ghfk;

	 xNu	ehspy; A,B,C	Kbf;Fk;	Ntiy	 	 	 = 1 12 1
2 60 10
× = 	ghfk;

	 A		xU	ehspy;	nra;Ak;	Ntiy	

	 mjthJ	[(A+B+C)	fspd;	1	ehs;	Ntiy	-	(B+C)	fspd;	1	ehs;	Ntiy]

	 	 	 	 =	
1 1 3 2 1

10 15 30 30
−

− = =

	 A	mt;Ntiyiaj;	jdpNa	30	ehl;fspy;	Kbg;ghh;.
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	 B		xU	ehspy;	nra;Ak;	Ntiy	

	 mjthJ	[(A+B+C)	fspd;	1	ehs;	Ntiy	-	(C+A)	fspd;	1	ehs;	Ntiy]

	 	 	 = 1 1 2 1 1
10 20 20 20

−
− = =

	 B	mt;Ntiyiaj;	jdpNa	20	ehl;fspy;	Kbg;ghh;.

	 C		xU	ehspy;	nra;Ak;	Ntiy	

	 mjthJ	[(A+B+C)	fspd;	1	ehs;	Ntiy	- (A+B)	fspd;	1	ehs;	Ntiy]

	 	 	 = 1 1 6 5 1
10 12 60 60

−
− = =

	 C	mt;Ntiyiaj;	jdpNa	60	ehl;fspy;	Kbg;ghh;.

5.	 xU	Ntiyia	10			ehl;fspy;>	B		mNj	Ntiyia	15	ehl;fspy;	nra;J	Kbg;ghh;.	

,UtUk;		Nrh;e;J			mt;Ntiyia		nra;J	1500	I	<l;bdhy;>		mj;njhifia	

vt;thW	gphpj;J	nfhs;th;.	

	 A	xU	ehspy;	nra;Ak;	Ntiy		=		
1

10
			ghfk;

	 B	xU	ehspy;	nra;Ak;	Ntiy		=		
1

15
	ghfk;

	 vdNt	mth;fspd;	Ntiyj;jpwd;fspd;	tpfpjk;			=  1 1: 3: 2
10 15

=

	 nkhj;jj;	njhif		=		1500	

		 	 A	,d;	gq;F			 =		
3 1500 900
5
× =

	 	 B		,d;	gq;F	 =	
2 1500 600
5
× =

6.	 xU	 njhl;bia	 ,U	 Foha;fs;	 jdpj;jdpNa	 KiwNa	 30	 epkplq;fs;>	 40	

epkplq;fspy;	 epug;Gfpd;wJ.	 kw;nwhU	 Foha;	 ePh;	 epuk;gpa	 njhl;bia	 	 24	

epkplq;fspy;		fhyp	nra;Ak;.	njhl;b	fhypahf	,Ue;J	,k;%d;W	Foha;fSk;	xNu	

rkaj;jpy;	jpwe;J		tplg;gl;lhy;>	mj;njhl;b	vj;jid	epkplq;fspy;	epuk;Gk;?

	 Kjy;	Foha;	1	epkplj;jpy;	mj;njhl;bia	epug;Gk;	ghfk;								 =		
1
30

	 ,uz;lhk;	Foha;	1	epkplj;jpy;	mj;njhl;bia	epug;Gk;	ghfk;			 =		
1
40
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	 %d;whk;	Foha;	1	epkplj;jpy;	ePh;	epuk;gpa	njhl;bia	fhyp	nra;Ak;	ghfk;		 =		
1
24

	 xNu	rkaj;jpy;	,k;%d;W	Foha;fisAk;	jpwe;J	tpl;lhy;>		

	 1	epkplj;jpy;	njhl;bapy;	epuk;Gk;	ghfk;	 =		
1 1 1
30 40 24

+ −

																											 	 	 	 	 = 4 3 5 2 1
120 120 60
+ −

= =

	 vdNt>		mj;njhl;b	epuk;Gk;	fhyk;		 	 = 1 601
60

= epkplq;fs;

		 	 	 	 	 				 	 = 1	kzp	


